Dividing by 2

Note: Use any division fact to divide by two

Use the lon vision method to divide the following without remainders
10+2= d. 24+2-=
16 + 2= e 14=2=
20+ 2= f. 18+2=
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Solution

— Dividing by 2 )7
L g by

Note: Use any division fact to divide by two )
Use the long division method to divide the following without remainders
10+2= d 24+2-=
5 12
2 10 21 24
10 - 24
0 0]
50,10+ 2 =5 S0,24 + 2 =12
16 & 2| = e [14=2=
8 L
2l 16 2l 14
16 - 14
(@] @]
So,16/|+2=8 So,14 =2 =17
0+2= f. 18 +2-=
10 9
2 20 2] 18
20 - 8
(0] (®]
50,20 =+ 2 =10 S0,18+2=9
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